Mrs. Volynskaya  Algebra 2 Parallel and Perpendicular Lines

Name _________________
SHOW ALL YOUR WORK NICE AND NEAT  ! HAND IN THIS WORKSHEET AT THE END OF THE PERIOD! IT WILL BE GRADED!
Write the equation of a line that satisfies these conditions.

1) passes through (3, -3) and is parallel to y = 2x - 5

2) passes through (5, 0) and is parallel to 3x – 2y = 1

3) passes through (-3, 7) and is parallel to (y-4) = ¾ (x + 8)

4) passes through (3, -1) and is perpendicular to the line that passes through the points (2, 8) and (1, -6)

5) passes through (0, 9) and is perpendicular to the line x = 5

6) perpendicular to the line 7x – 4y = 28 and intersects that line at its y-intercept. 
#7-9 State if the lines are Parallel, Perpendicular, or Neither. SHOW ALL WORK!

7) 6x ─ 12y = 24     


8)  4x + y = 5


9)  ─2x + 7y = 14

    4x + 2y = 8



   3x +12y = ─6      

        4x = 14y 

#10 Solve the systems of equations. State whether the lines are intersecting, parallel, or coincident.

10)    3x + 2y = 19




         4x ─ 5y = 10
